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Objective Question

S1 908551 Which of the following economiic narratives relates the trade between any two countries to the sign of their economies?

. Phillips Curve
. Fisher effect

3. Gravity model
4. Kuznets Curve
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Objective Question

52 11908552 Brewing financial stress endangering economice stability in developed economics is the immediate consequence of which of the followin

. Fiscal indispline

. Rising price level

. Over leverage

4. Increased interest rates
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Objective Question

33 908553 pyblished by the UNDP, the HDI is summary measure of human development. It measures the average achievements of a country in thre

basie dimensions of human development and include the following.

. Standard of living, Income and Occupation
. Education. Occupation and Health

. Health. Education and Standard of living
4. Poverty. Health and Standard of living
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Objective Question

54 908554/ o T Kearmey foreign Policy Globalization Index (2007) is a comprehensive framework to measure globalisation. It is based in 12
variables. grouped into which the following four baskets?

1. Economic integration, Political integration, Knowledge Integration, Social Integration

2. Personal Integration, Technological integration. Economic integration, Political integration

. Social integration, Political integration. Personal integration, Technological Integration

4. Knowledge integration, Economic integration. Political integration Technological integration
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Objective Question

35 908355 \Which one of the below mentioned transaction is not a non-cash transaction?

. The acquision of assets by assuming directly related liabilities
. Conversion of debt into equity

. Interest on dividend received from investing activities

. The acquisition of an enterprise by means of issue of share
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Objective Question

56 908556 : : . s s : . :
In a situation where the holding and subsidiary companies own shares in each other is known as-

. Partly owned subsidiary

. Cross holding

. Subsidiary company

. Wholly owned subsidiary
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Objective Question

37 908557 p R and M are Partners in a firm. They shared profit and losses in the ratio of 3:2:1. On st April, R retired. The goodwill of the firm wa

valued at two years purchase based on the average of last three years profits. The Profits of the last three year were as under:

2020-21 Profit Rs 2,48.000
2021-22 Loss Rs 36.000
2022-23 Profit Rs 1.48.000

It was decided that share of goodwill be adjusted in the capital Accounts of P and M. What will be the amount of Goodwill of P and M?

1. Rs 40,000. Rs 60,000
2. Rs 30.000. Rs 50.000
3. Rs 30.000. Rs 60.000
4. Rs 40.000. Rs 70.000
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Objective Question

58 |1908558 According to which concept, the life of the business is divided into appropriate segments for studying the results shown by the business
each of the segment?

1. Periodic Matching Cost and Revenue Concept
2. Dual Aspect Concept

3. Accounting Period Coneept

4. Money Measurement Concept
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Objective Question
59 908559
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Which of the following notions objectivity define an industry?

1. Homogeneity of products

2. High cross price elasticity of demand
3. Use and consumption pattern

4. Convention and market practices
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Objective Question

60 1908360 1) order to protect domestic industries, trade restrictions are often been allowed and justified to counteract which of the following

dumping practices?

. Persistant dumping
. Predatory dumping
. Sporading dumping
. Reverse dumping
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Objective Question
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Based on the relationship between marginal revenue product (MRP) and marginal resource cost (MRC). when it pays for the firm to
expand the use of variable factor input?

.MRP > MRC
. MRP < MRC
. MRP = MRC

4. MRP = MRC=1
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Objective Question

621908562/ \When technology allows many firms to operate efficiently in the markets, which market structure represents a better use of society's

resources”?

1. Perfect competition

2. Monopoly

3. Monopolistic Competition
4. Oligopoly
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63 |P08363)| o company's stock sells for T 63. The company pays annual dividend of 3 per share and has long established record of increasing its

dividend by a context 5 % annually. For this company, the cost of equity ( Ke) is

1.13%
2. 14%

3.10%

4. 8%

ot o1t TR 2 63 H ST 8 | DU AP =9 T UORTR (3) 3 TTU BT AU 31T Pl ¢ 3R 59D AMNG T H 5 %
AU 1 &7 BT RUT RPTS 5181 S U1 & 5t (Ke) I AR (D) © -

. 13%
. 14%
. 10%
. 8%

R R

fxl
A2
A3
A4

Objective Question

64 1908564 Which one of the following is an operational technique of hedging transaction exposure.

. Hedging through money market

. Hedging through forward

3. Hedging through swap

4. Hedging through leading & lagging
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The adjusted present value model used by MNCs to evaluate capital budgeting decision is based on

1. Gresham's principle

2. Value additivity approach

3. Law of one price

4. Multilateral Netting approach
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Objective Question

66 908566 The dividend-irrelevance theory of Miller and Modigliani depends on which one of the following relationships between investment polic
and dividend policy.

. Since dividend policy is irrelevant. there is no relationship between investment policy and dividend policy
. The level of investment does not influence or matter to the dividend decision

. Once dividend policy is set, the investment decision are residuals

. The investment policy is set ahead of time and not altered by change in dividend policy
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Objective Question
67 1908567
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is a most useful type of non probability sampling method when individuals with the desired characteristics experience or
attitudes are difficult to identify or reach.

1. Purposive Sampling
2. Convenience Sampling
3. Snowball Sampling
4. Quota Sampling
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Objective Question

68 1908368 Which of the following non-parametric test has no correrpanding parametric test?

. Sparman rank correlation test

. Kruskal Wallir test

3. Mann-Whitney test

4. Ward-Walfowitz one sample runs test
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Objective Question
69 1908569
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The coefficient of variation for a Poisson distribution with A(mean)=35 is

. 31.1 percent
. 44.7 percent
. 35.2 percent
4. 58.9 percent
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Objective Question

70 908570 Ope factor Analysis of Variance (ANOVA)

. 18 a perfect generalization of the t-test for paired observations.

. requires that the number of observations in each group be identical

. has less power when the number observations in each group is not identical
. 18 extremally sensitive to slight departure from normality
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Objective Question
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Blake and Morten recognise four leadership styles. One of them 1s the autocratic task management style. The autocratic task manager 13
one who-

1. Coneern themselves very little with either people or production and have minimum involvement in their jobs.
2. Display in their actions, the highest possible dedication both to people and to production.

3. are concerned only with developing an efficient operation who have little or no concern for people

4. have little or no concern for production but are concerned only for people
=D
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Objective Question

72 908572 Frederic W. Taylor is acknowledged as the father of scientific management. What is his major contribution to management.

Theory of burecaucracy

Identified characteristics of companies he considered excellent

Application of psychology to industry and management

How to raise productivity through greater efficiency in production and increased pay for workers
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Objective Question
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Maslow's Hierarchy of Heeds depicts human needs in the form of hierarchy ascending from the lowest to highest need. The correct orde:
is.

1. Esteem needs, Acceptance needs. Safety needs. Physiological needs, Need for Self-Actualisation
2. Physiological Needs. Safety needs. Acceptance needs, Need for Self-Actualisation

3. Safety needs. Esteem needs. Need for Self-Actualisation, Physiological Needs, Acceptance Needs
4. Physiological needs, Acceptance needs. Safety needs, Need for Self-Actualisation, Esteem Needs
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Objective Question

74 908574 Matrix structure is the realisation of two dimensional structure which emanates directly from two dimensions of authority. From which ¢
the two. a is martix structure is created?

1. Functional and divisional
2. Functional and project

. Functional and line

4. Divisional and line
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75908575 Which one of the following is concerned with Endowment Policy?

—t

. The issuer has advantage of receiving money at regular intervals of the policy with a specific sum of money at the expiry of the
policy

. At the expiry of the policy. the insured receives the sum of insurance policy

. It covers the insured for the whole life. His nominee receives the assured sum with bonus after the death of insured

. The premium cost is high. If the insurer dies, the nominee recerves the insurance amount
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Objective Question

76 1908576 Which one of the following subsidiary is not owned by the Reserve Bank of India.

. National Housing Bank (NHB)

. Industrial Development Finance Corporation (IDFC)

. National Bank for Agriculture and Rural Development (NABARD)

. Deposit Insurance and Credit Guarantee Corporations of India (DICGC)
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Objective Question
77 1908577
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The coexistence and cooperation between the formal and informed finaneial sector is commonly referred to as:

. Flexibility of operation

. Financial dualism

Well regulated financial system

. Catering the financial needs of modern economy
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Objective Question

8 908578 : . . . :
7 78 As the economy weakens, one would expect investment in funds to increase and investment in funds to decrease

1. long term : short term

2. equity : bond

3. money market mutual : equity

4. municipal bonds: money market mutual funds
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Objective Question
79 908579
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One of the key assumptions of the Boston Consulting Group Growth Share Martix is

. Cash flow can be equated with profitability.

. Market share has a positive effect on cash flow as profits are related to market share.
. Market share acts as a proxy to competitive strength.

. Market growth rate cannot be used as a proxy to market attractiveness.
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Objective Question

80 908580 : : . " . ——
Post-purchase consumers invariably experience cognitive dissonance which is referred to as-

. A feeling of happiness with the purchase

. Getting angry with the firm

A feeling of uncertainty about making the right decision
. A state of extreme satisfaction
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Objective Question
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The Model for Budget or "No frills" airlines was first developed in the USA by Southwest Airlines in the 1970s. The premise of this
budget airline was to get passangers to their destination for less with an "adequate” level of service. This highly successtul model has
since been copied by airlines all over the world. The competitive advantage of budget airlines arises from the following.

. Sound Positioning

. Maintaining low operating costs while increasing revenue

. Effective market segmentation & Targetting

. Aggressive advertising
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Objective Question

82 |1P08582 are the moral principles and values that guide behavior within the field of marketing and cover issues such as product safety.

truthfulness in marketing, communication, honesty in relationships with customers distributors. pricing issue and the impact of marketin
decisions on the environment and society.

1. Sustainable practices
2. Marketing ethics
3. Positioning principles
4. Corporate social responsibility
i Rrsia ok gea € forad fauve 8 & ior coasR (uifd 810 § oik 574 Scre, TRef fauuF v & Saarfedr
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Objective Question

83 908583 1 the 'Category F' which companies are classified by the SEBI?

. Existing listed companies that are making a public issue
. New companies with less than 12 months in operation

. Companies having a good track record of profit

. Privately held companies

It g1 i AR & o bl il & -

[ SR

e L

1. gfedTas 3% @ arelt Y Fuf-at faemm g
2. 12 A8 I &1 39y T Tenferd 75 dufai

3. WY BT IER <@ RBTS @+ arelt du-at

4, ot TaTfira arelt gl

Al
A2
A3
A4

Objective Question

84 1908584 which of the following is not an essential characteristic of negotiable instrument?

. Sells little to a bonafide transferor for value.

. Flexibility in transfer

. Easy negotiability

. Transferor can sue in own name without giving notice to the debtor.
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Objective Question

85 908585 Some bottles of soft drink were supplied by X to Y. Y got injured due to busting of one of the bottles. Y claimed damages from X due to

. Condition as to fitness as quality

. Condition as to wholesomeness

. Condition as to merchatability

. Condition in a sale by description
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Objective Question

86 908586 A business has been discontinued in the previous year 2021-22. The business loss.

. Can be carried forward and set off against profit gain of business and profession

. Can be set-off against income from business or profession or income under any other head

. Can be carried forward and set off for indefinite period. whether business is carried or discontinued
. Can be carried forward and set of for six years, whether business is carried or discontinued
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Objective Question

87 1908587 The employer has provided the facility of a 1.8 litre (c.c) car. The car is used for private purposes also and all the expenses including the
driver salary are borne by the employer. The expenses of employer during the previous year amounted to Rs 60.000 and the employer hs
recovered Rs 1000 per month from the employee for this facility. What amount per year shall be reduced by the employer from actual
amount of expenditure.

32,400
. 16.800
. 39,600
4.21.600
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Objective Question

88 908588 pipy Money' is used for

. Receipt on account of Dharmshala, Goshala ete.
. Women gets from her husband certain amount

3. Income of non-residents from shipping business
4, Income from building used for agriculture
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Objective Question

891908589 When no liability for payment of tax in advance arise by an assesses on his income if tax payable is

. Less than 10.000
. Less than 50.000
. Less than 5.00,000
. Less than 7.50.000
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Objective Question

90 1908590 Eour schedule have seen added at the end of the Limited Liability Partnership (LLP) Act. the second schedule entertains which one of th

following?

1. Provisions to conversion from private company into limited liability partnership

2. Provisions regarding matters to mutual rights and duties of partners and limited liability partnership and its partners applicable in tl
absence of any agreement on such matters

3. Provisions relating to conversion of a firm into limited liability partnership

4. Provisions for conversion from unlisted public company into limited liability partnership
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Objective Question

908591 Which of the following drive growth of international business in digitally interconnected world?

A. Strong consumption in global south

B. Dynamic exchange, interest and inflation rates

C. Formation of trade promoting regional groups

D. Regulated capital and portfolio flows

E. Demographic dividend and low cost manufacturing

Choose the most appropriate from the options given below:

. A.Band Conly
.C.D and E only
.B.D and E only
. A, CandE only
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Objective Question
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The problem of persistent current account deficit can be avoided by pursuing which of the following polices?

A. Encouraging Savings

B. Controlling fizeal deficit

C. Devaluation of the domestic currency

D. Curtailing productivity

E. Reduced dependence in costly external commercial borrowings

Choose the correct answer from the options given below:

R
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Objective Question

93 1908593 The potential benefit of FDI to host countries include which of the following:

A. Access to superior technology and increased competition
B. Employment generation

C. Increase in domestic investments

D. Bridging host countries foreign exchange gaps

E. Reduction in income inequality

Choose the correct answer from the options given below:

R
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Objective Question

94 1908594 which of the following enumerates the distinctive features of Management Audit?

A Tt is an appraisal of both policies and actions

B. It is preventive as well as creative check of cost accounting data

C. It is organisation oriented

D. It is dynamic and result oriented rather than simply procedure bound
E. It ensures the sound and healthy growth of business organisation

Choose the correct answer from the options given below:

.A.B.D only
. A, C.E only
.B.D.E only
.A.D.E only
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Objective Question
95 |P08595)| o company can issue shares at a discount subject to which of the following conditions?

A. Two year must have passed since the date at which the company was allowed to commence business
B. The shares to be issued must be of a class already issued

C. Issue must take place within three month after the date of the CLB approval

D. Issue of shares must be authorised by an ordinary resolution of the company

E. Resolution must specify the maximum rate of discount

Choose the correct answer from the options given below:

.A.B. Conly
.B. C.D only
.B.D.E only
.C.D.E only
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Objective Question
96 1908596
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Which of the following shapes are used to describe the long-run average cost curve?

A. S-shape
B. L-ghape
C. V-shape
D. U-ghape
E. W-shape

Choose the correct answer from the options given below:

A and B only
. B and D only
. Cand E only
C and D only
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Objective Question

o7 |P08397)| & price ceiling below the equilibrium price leads to

A. Black marketing

B. Shortage of commodity
C. Surplus of the commodity
D. Hoarding of commodity
E. Increased in consumption

Choose the most appropriate from the options given below:

A, B. and C only
. C.D and E only
. A.Band D only
.B.D and E only
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Objective Question

98 1908598/ wWhich of the following elements cause problem in application of internal rate of return method while evaluating mutually exclusive
projects?

A, Discount rate
B. Timing

C. Scale

D. Reversing flow
E. Leverage

Choose the correct answer from the options given below:

1. A, B only
2.D.E only
3.B. C only
4. A, D only
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Objective Question

991908599 Which of the following are likely to lead an appreciation in the value of a country’s currency?

A Higher real interest rate

B. Higher nominal interest rate
C. Lower inflation

D. Higher inflation

E. Large current account deficit

Choose the correct answer from the options given below:

. B. C only
A, Conly
.D.B only
.E. A only
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Objective Question
100 908600
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Before writing the research report (Pre-writing). a researcher usually considers

A. Purpose of study

B. Readers of report

C. Climax order of report
D. Visualization of report
E. Uses of report

Choose the correct answer from the options given below:

.C.D. E only
.A. C.E only
.E.B. A only
.D.B. Aonly
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